Notes from 2.2.1 Day 1 October 10, 2017
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@ Y= D +2%5 Find X andy
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2-74. See graphs at right.

a: stretched parabola, vertex (0, 5) N
b: inverted parabola, vertex (3, -7) _i,,_'z :1 : 2 i 3x
y
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at the moment we'll focus on two of them.

You need to be in pairs

Each person needs a Pre-
made graph for this activity

In your Pairs

One of you .... The other....
Y= y=1x
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Each of you:
7V Graph your equation on a graph paper given to you
* (you can tape them into your notes later)

Share your results. Make a quick sketch of the
® other person's graph on your paper.

[ , Work together to write down the domain and range
of both functions.
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You are about to make
transformations with

YOUR function
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Find and graph the following tranformation
for your function

vertical shift up, 4 units

a) Next to the graph, write it's equation

b) When finished, copy the results from your
partner on to your paper.

Next trans formation

Horizontal shift right, 5 units &
with negative orientation

a) Next to the graph, write it's equation

b) When finished, copy the results from your
partner
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c) vertical stretch by a factor of 2

Y= X
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One general way of writing an equation for a
parabola is to use graphing form:

4=x" gz a e ek

With your group, write the general equation
for both of today's functions below your graphs
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Assignment:
2 -....81-82, 84bd, 85, 86ac, 88, 90,92

If you are celebrating the Yom Kippur
holtda Y, let me know

@




